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@ AB=DC =4cm, AD =BC = 6cm

© /A =110°, /B=70°, /D =170°
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® AB//DC , AD//BC

@ B =90° /=90° /D=90°

® AB//DC, AB =DC = 3cm

(@)0A = 0D, OB=0C (&, 4 0 & & tzHie] maelth,)
® AB=DC=5cm,AD=BC = T7cm
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67. TS ¥y Zo] A ABCD 9] Uliel| A P 7t 9ok tiZhA
ACE 1 A P A ZF HAHS AZESHH aAPCD, aBCP 9] Hol+=
ZtZ} 10cm?, 6cm? 7F €Lt o] w, APAC 9] YolE aloz}.
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.. LAEF = /AGF = /AGD

(AGD = /AEB = 180° — 16° — 90° = 74°
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DABCD = 40cm? ¢ w], AAEF 9] §o]& Fa}o]
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15 cm?
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AABE = JOABCD = 2 x40 = 10 (cm?)
AAFD = }LDABCD =10 (cm?)
1 1
AFEC = SOABCD = 2 x40 =5 (cm?)
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